
2 + 2 =

3 + 1 = 

10 - 6 =

7 + 7 =

4 - 2 =

17 + 13 =

73 - 37 =

3 * 4 =

8 + 13 =

09 + 67 =

⅓ + ⅔ + 1 =

75 - 65 =

143 - 89 =

54 + ____ = 85

⅛ + ⅞ =

54 + ____ = 29

⅜ + ⅔ =

134 - 256 =

____ + 41 = 41

3 * (9 - 12) =

28 = 

43 - ____ = 23 + 35

7 * 50 =

34% z 56 = 

√36 = 

34 + ____ = ∞

¼ + 0,35 = 

4 * 5,5 =

√256 =

42 = 

____ + 54 = -32

84 - 26,34 =

27 * ⅜ =

(3*63) / 3 =

2*3*4*6*7 = 

(6*7) / (3*1) =

____% z 42 = 21

19044 / 12 =

x2 + 2x + 3 = 18
x1,2 = 

x + y = 14
2x + y = 20
x=                 y=


